ASP-V/Economics/GE-1/20

B.A./B.Sc. 5th Semester (General) Examination, 2019 (CBCS)
Subject : Economics
Paper : GE-1
(Basic Economics)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten of the following questions: 2x10=20
BT @ @ I ACHR T e ¢
(2) What is utility?
Teeifarel Jie
(b) What do you mean by macroeconomics?
FANRBsTT LA IF0e F QRN ?
(¢) What is price?
N FE IE?
(d) State the law of demand.
s i Rge @i

(e) What is opportunity cost?

@S TW F?

(f) What is monopoly market?
CFEHA AT IS I 2

(2) Define total revenue.

o Rrmee WEe J5E wie |

(h) What is circular flow of income?
TEF JEFS IECE I @R ?

(1) What do you mean by marginal propensity to consume?
AT CSiel 2Tl Fe0e [ @R 2
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What is variable cost of production?

TeodAmrE AfaaSaH e aE F 2

What is oligopoly market?

wfErsiefe aram Fe

What do you mean by GDP deflator?
GDP fomba Fre S (@i ?

What is returns to scale in production?
SR WS effone 2

Define price effect.

N SIS ARl Tl |

Distinguish between short-run and long-run.

T € REIIEE W ANLF IR |

2. Answer any four of the following questions: 5x4=20

AT (@ (@I BIFG AT TEF WIS ¢

(a)

(b)

(c)

(d)

(e)

®

Write the usefulness of Macroeconomics.

e SdAifen Am@mEaTel @l |

What is market? State the main features of perfectly competitive market. 2+3=5

e FE e o4 AfcriferEe awiEe da IRl e

What is national income? Discuss expenditure method of national income estimation.
1+4=5
GO SW FIE A2 GO B AAT I Amfoo Sl IR |

What is marginal utility? Explain the law of diminishing marginal utility. 1+4=5
s TAifarel 2 FwgPmF 2Afes Sowifor Rl a=m @l

Define price, income and cross price elasticity of demand.

W, S @ A wele biftne Rfegieeen A wie |

What is fixed cost in production process? Explain the shape of the total cost curve. 1+4=5

TeoAve siwfere Za 5w F2 @ TF @R WFfe [ F@ |
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Answer any two of the following questions:

10x2=20
NG @ e fe eiona By e ¢

(@) Define indifference curve. Discuss the method of determining consumer’s equilibrium with

the help of budget line and indifference curve.

2+8=10

Rterwsicaarg ses e | el adl @ Faremrsitada el e sy e
AGfS PN ) |

(b) What is production function? Derive AP and MP from TP curve. 2+8=10

T SroFs D2 TP (@2 (A AP ¢ MP s sl |

(¢) Define a perfectly competitive market. Explain the method of determining the short-run

equilibrium of a firm under perfect competition. 2+8=10
ofef aiferaifirel e kel e | A afsrifonrs reEs @ PG FEEE S
fAsnsitea siafe < ¥l |

(d) What is consumption function? Determine the level of equilibrium national income in

% fevs diac 1B
Simple Keynesian model with the help of 45° line diagram. 2+8

c@ﬁmm%?45°@mmﬁﬁmﬂmwmﬂmww®ﬂwﬁ@W|
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